Integration by parts -

recal, the product rule for derivatives

integrate
$$fg' = (f \cdot g)' - f'g$$

integrate
$$\frac{\partial}{\partial x} = (\frac{\partial}{\partial y})' - \frac{\partial}{\partial y}'$$
integrate
$$\frac{\partial}{\partial y} = (\frac{\partial}{\partial y})' - (\frac{\partial}{\partial y})' = \frac{\partial}{\partial y} = \frac{\partial}{\partial y} - \frac{\partial}{\partial y} = \frac{\partial}{\partial y}$$

or du instead of u' ultra violet minus Super voo doo

Use I.B.P. to integrate products-

so that 10 du is more simple than

u = x $dv = e^{x}dx$ du = dx $v = \int dv = \int e^{x}dx = e^{x}$

$$= x \cdot e^{x} - \int e^{x} dx = x \cdot e^{x} - e^{x} + C$$

@ Sar should be no harder than the OG

3) WE EVERYTHING belied (- put dx w/ dv

(udv = uv - Svdu $= x \cdot e^{x} - \int e^{x} dx = x \cdot e^{x} - e^{x} + C$ $= e^{x}(x-1) + C$

$$\frac{1}{4}$$
 (ans) = $e^{x}(x-1) + e^{x}$. $1 = e^{x}x - e^{x} + e^{y} = xe^{x}$

$$(x \cdot \cos(x) dx = x \cdot \sin(x) - \int \sin(x) dx = x \cdot \sin(x) + \cos(x) + C$$
 Stuff dx

recognite integrand is a product => I,BIP,

$$u=x$$
 $dv=\cos(x)dx$

$$du = dx$$
 $v = (cos(x)dx = sin(x)$

ched:
$$\frac{1}{4}$$
(ans) = 1. SINX + X. COSX - SINX = $\frac{1}{4}$ (COSX)

ohed:
$$\frac{1}{3}$$
 (ons) = 1, sinx + x. (osx - sinx = (x. (osx))

$$\frac{-\frac{1}{2}}{5} \times dx = -\frac{1}{3} \cdot \frac{x^{2}}{3} = -\frac{x^{3}}{4}$$

Ex $(x) = \frac{1}{3} \cdot \ln(x) - \int \frac{x^{3}}{3} \cdot \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \int \frac{x^{3}}{3} \cdot \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} \cdot \ln(x) - \frac{1}{3} dx$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} \cdot \ln(x) - \frac{1}{3} \cdot \ln(x)$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} \cdot \ln(x)$$

$$x \cdot \ln(x) dx = \frac{x^{3}}{3} \cdot \ln(x) - \frac{1}{3} \cdot \ln(x)$$

$$x \cdot \ln(x) d$$

$$du = dx \qquad v = \int \ln(x) dx \qquad this is harder
$$du = dx \qquad v = \int \ln(x) dx \qquad this is harder
$$du = \frac{1}{2} \times \ln(x) - \frac{1}{3} + \frac{x^3}{3} \left[\frac{1}{x}\right] = x \cdot \ln x - \frac{x}{3} + \frac{x}{3} = x \cdot \ln x \qquad U$$$$$$

$$\int x^{3} e^{x} dx =$$

$$u = x^{3} \qquad dx = e^{x} dx \qquad | u = 3dx \qquad v = e^{x}$$

$$du = 3dx \qquad | u = 2dx \qquad |$$

Technique: Apply I.B.P. multiple times

$$\int \ln(x) dx = x \cdot \ln(x) - \int x \cdot \frac{1}{x} dx = x \cdot \ln x - \int dx = x \cdot \ln(x) - x + c$$

$$= \left[x \cdot (\ln(x) - 1) + c \right]$$

$$du = \frac{1}{x} dx \quad v = \int dx = x$$

$$check: \frac{1}{x} \left(x \cdot (\ln(x) - 1) \right) = 1 \cdot \left(\ln(x) - 1 \right) + x \cdot \left(\frac{1}{x} \right) = \ln x - 1 + 1 = \ln x \quad (1)$$

technique: set u = EVERYTHING except dx